CorbettmOiths

Ensure you have: Pencil or pen

\

b,

Guidance

1. Read each question carefully before you begin answering it.

2. Check your answers seem right.
3. Always show your workings

(
Revision for this topic
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il In triangle ABC,

AB =12cm, angle BAC =80° and BC =22cm

fin & I AY
T 2 /

|1 7.2

T = G T o
g = ’52’04]

180 -80 - 32.49.. =67.509...
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2,

In triangle ABC,

AB =22cm AC =20cm AG=31em

22cm

L”J - vﬁ
- 7
O s 96’ 07
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3. In triangle ABC,

AB = 15cm, angle BAC =29° and angle ACB = 77°

Bcm

Find the length of the side AC.

(3)
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4.

Shown below is triangle ABC.

7cm

G
A 8cm

The area of the triangle 14\/5 cm?

Find the size of angle ACB
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5. Donhampton is 48km from Castletown on a bearing of 057°.

Eastville is on a bearing of 084° from Castletown and on a bearing of 150° from
Donhampton.

¥ 4 - 57 = 27

Calculate the distance of Eastville from Castletown.

I S

sin b b S 8F

z= Sk UF
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6.

Boat A is 28km from a lighthouse on a bearing of 053°
Boat B is 19km from the same lighthouse on a bearing of 164°

> Z
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Z.

The area of triangle ABC is 30cm?
Angle ACB is obtuse.

8cm Vi

c 12cm 2]

Work out the size of angle ACB.

kb v« b x 1 xém\?: 30
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8. Shown below is a triangle.

Not drawn accurately

20cm

TENS b1.94

g T i
j165.445 (0017,

18cm

Work out the difference in size between the smallest and largest angles in the

triangle.
Z S, pIlk
Ia = Jir
2.0 16

2.0s g ¥

g= bl 015
or

—
—

o> s . qg';'a

Dl (1) 115 285 - 10015 = o5 97
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Shown below is a triangle.

Not to scale
7cm 9cm
\3
8cm
Calculate the area of the triangle
-1 2 1
(o0 F tv8 -1
P T
(o3& = :74
~Z
o= 733985
A= Lts » 7 x Ex5.73 3985
= 25/ ' é/z cm :
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10. Here is a triangle

B
5cm
e 150°
A G
1
BC =5cm Angle ACB = 150° sinx® = ——
10
Work out the length of AB
Al 5 . o
j;\ /50 TaX
;4}? s S Ini5o = by
5;/1/9/(/
z A = 5 Joo
. 5JSw
/%/? - _/_;/"
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Shown below is triangle ABC.

AB = 3x BC =x ZBAC =12°

3x

12°

£ACB is an obtuse angle.

Find the size of angle £ACB

SIS I |1
- = —_
27 yi

4go+r 5/)4l. . .
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12.

7x 30° 2 \/_?; X

Express y in terms of x.
g1 () (- ()5 )

gt s WxT pizzt - gaz”
y* 9% ©

7?Ji/é)(
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13. Two ships, A and B, leave a port at midday.

Ship A travelled on a bearing of 085° at a speed of 15km/h us”
Ship B travelled on a bearing of 137° at a speed of 24km/h 72

(a) How far apart are ships A and B at 15:00?

Z Z

Ap = 4 F 7Y - X4 X PR X (s
Ap* > Zireg - L480L, 52

A7 s 3219-5134g
A > 5474 .

(b) What is the bearing of ship A from ship B at 15:007?

7y Sh52
T = .
24 5t- ¥4,
/ = §9. 272 /

%zf(/ _€9.3121.. -05° 175679

180 — 175 ¢(79...  4.32...
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14.

4x
120°

3x

Work out the ratio y : x

-7

b

J

7"‘ s (3] ﬂuf - 2/31)/4)1) (s 120

=

yY' R R

/z _ 3711

/> J37 %
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15.

B
6.6cm
X Ccm
60°
C
A (x+3) cm
AB =6.6cm BC =xcm AC = (x +3) cm
Angle ACB = 60°
ngle e 1 & ,/1
Calculate the perimeter of ABC.
Give your answer to 1 decimal place.
f4" * 15 F (23 —2ﬁ%ﬁﬁ/@ﬁ’
CAT s 27+ 2 1 fah - (274 32)
(45 B 3 bx+q - 272 3y
L] = ATy 3L+ 9
e ® i "?é fé
sl >3 2 -3454
Z:b-54F o A= P
e X
'8 734
(7

4 SE7 + 2547 + 44
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